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No. of Questions/wwl @ dww : 120
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Nots : (1) Attomptes many queations 48 you can. Each question carries 3 marks.

(1)

Oune mark will be deducted for each incorfect answer, Zero mark will be
awarded for each unattempted question.

S B W W WO W AR W WE 3 9% W S
T IW F fmoww o% F wmm yEE SaiE YW W ThE S
wny :

(2} If more than one alternative answers seem o be approximate to the
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|

1. What is the maximum number of parmﬂrs in a [ tenying on banking

business?
& e = @ o o d SR miglt $9E T
(7 @ 10 @ 20 ) 25

(P.T.0}
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2. Which cne of the following documents defines the relation of the company with

outsider?

(1) Memorandum of Association  (2) Articles of Association

(3) Prospectus (4] Statement in lieu of Prospectus
fmfifen § 3 fve o oo = # ol s & gy diarfia g R
(1) otz dw fram (2) Tz =t

(3) o w1 (4) wrAmE gl o7

3. In which of the following combination firms maintain their entity scparate?

(1) Federation (2} Cartel

(3) Full conselidation (4) Partial consolidation
freferfige 5 & fre goiom & i o yus it Em TEd €7
[1) vy | (2) ®e |

(3) ot W= A (4) s wAHA |

4. Which one of the following is not exactly a form of business combination?

(1) Holding Company (2) Taniff Pool

(3) Partnership ’ (4) Amalgamation

ﬁﬂ%ﬁaﬁﬂﬁﬂ—mmﬁiﬂmﬁﬂﬁﬁmﬂ%?

() B R @) T (3) W (4) T
2

(1)
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5. Max Weber is associated with

{1) Bureaucracy Theory (2) Scientific Management Theory
(3) Administrative Theory (4) Classical Theory

A5y I e §

(1) et Rrgra @ | (2) AmPrE v figre @

(@) s foge @ (4) gt Regeed,.,

6. Which one of the following is the main advantage of fiinetional organisation?
(1) Simplicity - (%) Expert advice (3) Specialization {4) Experience
Reafien & & S-w wrtem 9 = ge @M BT L

(1) & (2) TR T (3} (4} A
7. The order of command that flows from top_fg bottom is known as

{1) centralisation (2) decentralisation

(3) scalar chain (4) unity of direction

TR 1 wH S W ¥ A 9w R, @ R
(1) SR (2) fadterer (B) AR qEw 4 Few B

8. Who has said, “.Tr_:r manage is to forecast
coordinate and to controP - -

(1} Koontz and D-’Dnunqu_____*__h_wgi\mﬁ!
(3} F. W. Taylor (4) Peter F. Drucker
(1) | 3

and plan, to organise, to command, to

(P.T.0)
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e F@, “THY ¥ WY wRwEeh FQ, T wTH, G F@, Fen &, g
Tt e e o & 27

(1) TRA @ AEAT . (2) & ¥

(3) Tho §%qe SR (4) I The T

9. Management by objectives cannot be done
{1} without decentralisation of authority
(2) without delegation of authority
(3) without defining clearly the task to be performed

(4) without division of work

Sl gu v Tl EFa

(1) sfmr & fFgmo & fom

(2) sfwr ¥ wrdn & f

(@) fmt 9 It wd w ofonfia R feem

(4) ¥M & Fore & o

10. Which one of the following is the oldest form of organisation structure?
(1) Commiftee Orgamisation (2) Matrix Organisation
(3) Functional Organisation (4) Line Organisation
ﬁﬂ%{?ﬁaﬁﬁﬂﬂ—m@mdﬁmwmi? |
(1) wff @ (2) AR WA (3) e WA (4) YE W

(1)
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11. Direct authority exercised by a superior over his subordinate is called

(1) staff authority (2) concurrent authority
(3) functional autherity (4) line authority
ah%mmﬁhwmma&mnﬁmﬁmwm%
(1) =% AR (2) wﬁﬁl’ m

(3) wrlerr after . 4 T afer

12. Which one of the fnllu'w'mg is a pnnmplc of d:rccung?
(1) Principle of managenal &ppralsal
(2) Principle of management development
(3) Principle of job definition
(4] Principle of managerisl communica
Frafiem § & - ﬁém # firgra %?

(1) Yool e # g mmmwm
) vl <Rt e | o | -

13. A void agreement is one which is

(1) valid but not enforceable

(2) enforceable at the option of both the partes
(3) enforma.hl-—-v—-*"

@ ot enforceable in the court of law

9
b | P10}
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14,

15,

(1)

U I WA A

(1) R R g vadr T 2

(2) 3 v F Fwer w oy 2
(3} T TR & fdhey w waddig 2
(4) Rt A § vadde T 2

A agrees to pay Rs 1 lakh to B if he discovers treasure by magic is
{1} an illegal contract (2} a valid contract

{3) a void contract (4} a voidable contract

AB® 1o R A WAL IR I T T gE aw 2 ¥
=2t

(1) & Affm dfmg @ 2) o Rl e @
) & Iz ufae 2 (4) T TEEE wfEm R

Which one of the following statements is not correct as regards to a valid
contract?

(1) Some consideration

(2) Free consent of the contracting parties

(3) Major and minor contracting parties

(4) A tawiut 0D)EC



16.

17.

18.

(1}
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. faftem dR % R Feafofam F @ #-a1 @ 86 76 27
(1) $9 Shww (2) sfagr & ugwRl A @A Al
(3) SR § 37 © ST R (4) ww faftm 3w

The delivery of goods by one person to another as security for the repayment of
a debt is known as

(1) bailment (2} pledge (3] hypothecation (4) mortgage

T it g R i W oW & gpmE 3y 9 o e & v oA, T oW
e e R

(1} IR (2) vl

(3) ¥ (hypothecation) (4) == dgH

The meaning of the doctrine of Caveat Emptor is

(1] let the seller beware (2) let the buyer beware
(3) tet the creditor beware (4) None of the above
FAE v g w1 oo @

(1) fdar dvawmr @ S (2) #F e @

(3) R W @ (4) 37 F § Fif 7

A stipulation in a ¢ iolati "
" p ontract of sale of goods whose violation by seller gives g right

(1} guarantee (2) warranty (3) condition

(4] term

(F.T.0,)
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T fEr B uRm d fea g W oW P T W FA W dleg w9
Hﬁmm%_

(1) st (2) TR (@) ™ (4) TR

19. The essence of a right of lien is to

(1) delivery the goods (2) regain the possession

(3) retain the possession (4] None of the above

gt % iR s mhE @ @

(1) ot @1 fer (2) F&M W AT F FIW H

(3) T AT WY B U TG (4) zoiw ¥ 8 A ad

20. With a view to protect firm from any loss in emergency, a partner will act
(1) as a man of ordinary prudence '
(2) as an agent of the firm
(3) as a master of the firm
(4} All of the above
s 8w mh D g w0 % R @ W W iR
() T e 3R e R e § FE R
Eiﬁvsﬁ%srﬁﬁﬁl#mﬂm&m
3) o % mis % w9 § =4 =W
@) mgﬁmﬁﬁmﬁm

(1)
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21. A bill drawn in favour of a minor is

(1)

(1) void (2} valid

(3) valid but not negotiable (4) illegal
w ome & v F fvw

(1) 7= ¢ (2) fafmra 2

(3) fafterrw 2 wog weETa 4 2 (4) faftmmr ¢

Which one of the following is not the characteristic of a negotiable instrument?
(1) It must be in writing

(2) it must be freely transferable

(3} It must be registered

{4) it must contain definite amount of money

frffe & 3 Ph-0 yom R 6 R okt 42

(1) 3¢ fofem &% o afie

(2) % W ¥ ¥ i B Tifte

(3) T R wiwr g

(4) WA @ Rt @w & i

The Charter or the Constitution of the Company is

it ”ﬂwrl.

(1) Articles of Association . (2) Mémorandum of Association,
(3) Certificate of HUOMINAMOT "  (4) Prospectus

P.1.0)
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Sl H IR @ dfne R
(1) g sraffam | (2) g e Frem
(3) Fmm w1 e (4) Wiy w3

24. The proper authority to call Extraordinary General Meeting of a Public Company
18

(1) Registrar of the Companies
(2} Court

(3] Board of Directors of the Company

(4) Central Government

oF Wwi werft B ommere wwe @ gen % B 9w it R
(1) TRl F TR (2) =

(@3) FFt w1 PRy v (4) ¥ T

25. DBanker’s rclation with customer in case of deposit afc is that of
{1) debtor and creditor (2) lessor and lessee

{3) principal and agent (4) None of the above

A EE % e § ¥ # e § e B §

(1) Foft T FER (@) v T T A
(3} FH T AhER H (4) 37w ¥ 8 w3 @

(1) 10
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26. The number of countries having membership of IFC at present is

27.

28.

(1)

HAofhofte (IFC) # wewer wt awt wyl 6 dom A= T § §
(1) 146 . @) 155 (3) 162 (4) 184

Which one of the following is not a liability for a Commercial Bank?

(1) Deposits {2) Reserve Fund

(3} Bills Receivable " {4) Biils for Collection
& A &% & R Pefefn & & $h-m afie 98 &7
(1) s - (2) s Pt

(3) W= Tore (4) 518 % ol fe

Which one of the following should not be a principle of investment of a
Commercial Bank?

(1) Principle of National Interest

(2) Principle of Marketability of Securities

{3} Principle of Risk-free I'nvestment
(4) Principle of productivity of investment

R & 3 s @ afifers ¥% % BT @1 g -t e
(1) wfa fa wr fgra (2) PR & Roveaan = fps

(3) ey Fim w1 RgEg (4) R # s @ Rgr

s T

11
(P.T.0.)
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29-

30.

31,

32 L

(1)

Who is Regulator in respect of Regional Rural Banks?

(1) Sponsor Bank (2) NABARD

(3) RBI (4) Central Government
gitw niw d & wd § frams w27

(1) wEeE &% | (2) TE

(3) e fsd S (4) FER WER

Which one of the following is not a quality of good money?

(1) General acceptability * {2) Durability

(3) Non-cognizability (4) Portability

Fefafag 4 @ 99-91 @& o g = o Tl 27

(1) wduem (2) Rerew (3) e-egan (4) s

CRR attracts
(1) no interest (2) interest @ 5%
(3} interest @ 2% (4) Interest @ 1%

HodRodMo (Tehe HIRUE) W T R
=l @ FFI@5% (@ IEE2% (4 TFW@ 1%

In the background of nature of investments, find out the odd from the following
(1) call money (2) furniture
(3} discounting of bills {4) investment in treasury bills

12



17P/201/22/Set No. 1

PR @ TR ¥ vl A, Aeffen § 3 fie a $ A

(1) en (2) Wi

[3}%&#3@%&2 | (4) =R fymt & ffdeR
33. Gold Standard was adopted for the first s in.

(1) England (2) &nwr_-mj (3) Germany (4) France
NN G AT T O

MW @ e § (3) =i # (@) %@ ¥

34. With reference to credit control methods, find out the odd Yiom the Iollowing
(1} bank rate - © (@) stasatory liquidity ratio
(3) moral suasion B {4) ﬂ.pen market operations
I i Rt & w2 4, Aelien 3 3 19 AT T
(1) ¥ = | (2) P wwm Frergem
(3) A = [4]7@6 TR

35. Who shall be the natural guardian in case of massied minor girl?
{1} Father or Mother (2} Father-in-law or -Muthepin-law
(3) Husband (4) Asy of the sbovs
R sraes aodt A qn o woke s 3H BN
(1) R o mvr ) T
@ ® 0 7w 3 9 o

i 13

- P.T.0,)
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36. Which one of the following agencies is dedicated for helping the poorest of the

37.

331

(1)

poor countries and is also called the ‘Soft Loan Window’ of the World Bank?

(1) IMF (2} IFC (3) IDA (4) WTO

ﬁﬂﬁﬂ%ﬁﬂﬂﬁ%?ﬁ@?ﬁﬂﬂﬂﬁ%ﬂnﬂanﬁaﬁm%ﬁﬂmﬁﬁ%ﬂm
ft fma = it ‘T ww Ragh’ W Far o 27

(1) AEoTWHOUF (HeYodHto) (2) smouFotta (Bofieflo)
(3) #Hodione (ﬂﬂﬁlnﬁo} : (4) Eﬂoﬁaaﬁo _[ﬁuﬂ‘uﬂﬂ)

If a constant value 50 is subtracted from each observation of a set. The mean of
the set is

{1) increased by 50 (2) decreased by 50

(3} not affected ' (4} zero

7l fft B2 F TRE daw F ¥ o P AR 50 W s ¥, J dT W oww @
(1) 50 7g1 g3 (2) 50 w1 g1 (9) mﬁaﬁ&l {4) I

Which one of the following relations among the location parameters does not
hold?

(1} ©Q, = Median (2) Py, = Median (3} Dy = Median (4} Dy = Median
Prafeflaa § } H-w T deR EE & @9 9Rn wd w82
(1) O, = MBR  (2) Ps, = WIS (3) Ds = W&k (4) D = wiSmm

14
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41.

42.

{1)
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A train covered the first 5 km of its journey at a speed of 30 km/h and next
15 km at a speed of 45 km/h. The average speed of the train was

@ e S I W YN 5 km, 30 km/h R ww @ qu fFm wwm Ien
15 km, 45 ken/h #1 9@ & 0 fn s 6 oww T of

(1) 35km/n  (240km/h (3 32km/h  (4) 42 km/h

Coefficient of quartile deviation is given by the formula

wguty fomem T = 93 R

03 +Oy | @3+Qy

Qs -Q, Qs -0
0,-0, @ —_—

(3) (4}

{1 .
0, -0 @~ G +Q,

Mean deviatioft is minismum when deviations are taken from

(1) .Mean (2} Median (3) Mode (4) Zero
mer R e o & s freew R
(1) orer & (2] el A (3) e & (4) T &

Ff a constant vidue 5 is subtractsd from each observation of a sct, then variance
18 :

(1) réduced by 5 {2} reduocsd, by, 25,

(3) unaltered (4) increased by 25

R fod e & wedw e F 3 o P T S SR, w v &

W sTrgam (2 et (g TR (4] 5 e

"raTe 4 - X ..l:ﬂ_._b‘_*—‘h ;
13

- .
S

- ; —

P.1.0,)
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43. Most preferred value of homogeneity error R in reference to index numbers is

45.

qIFEH F wl § wwew g R o fwe we R

(1} 1 2) O (3) w {4) -1

The value of Gross National Product-(GNP} and Net National Product (NNP)
follow the relation

T aPlr semg (GNP) @ 2 U¥R IR (NNP) % aW e oems w s
w0 E

(1) GNP = NNP -(2) GNP<NNP (3) GNP > NNP  {4) GNP 2 NNP

If all the subindices are equal to P, then the total index will be
(1) equal to P (2) equal to 100 (3) equal to 1 (4} equal to O
R o rEwE P & T ¥, @ T qEEw wm

(1} PH ®WE  (2) 100 % S (3) 1 F WA (4) 0 F TH

An Additive Model of time series with the components T, S,C and [ is
ﬂ#f?.srcamr%i;rmmﬁvﬁaﬂqm?ﬂmmﬁga%

(1) Y=T+S+CxI (2) Y=T+SxCxl
3)Y=T+5+C+I 4 Y=T+5xC+I

47. Most frequently used mathematical model of a time series is

(1)

(1) Additive Model | (2) Multiplicative Model

3| Mixed VModel (4) All of the above
. 16
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W wR A W T Sgw TR wied f
(1) Fowe Wew  (2) pElEE () Rfm aise (4) R o

48, If p=1, then relation between the two variables X and Y is

(1) Y is proportional to -x | (2) Y is inversély pmpornonal to X
(3) Y is equal to X - {4) None of the above

Wp=1?, D= xeny & o9 gy 2

(1) ¥, X & gt & .{'EJY,_X%WQ

@) ¥, X ¥ o } A1) TRID I

49. According to Keynes, marginal efficiency 6f CaS#6aY o the-eupected rate
(1) of return on finanicial assets
{2) of profit from real investment
(3} of rate of return on real investment
(4) of profit from financial investment

0 & ogar, foi U wnieem 4 sowRmae
(1) el whefal W e | (2) JwafiE Bl W s @

(8 ke PR W NIeEElL. . (4 Rt Ry w aw @

i ¥ (P.T.0)
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50. If a linear consumption function passes through the origin, it means that

alz e 39 weR qE fag @ TRm, A s e R
(1) APC = MPC 2] APC > MPC
(3) APC < MPC | (4) APC = MPC =0

S51. Unbalanced growth strategy is based on
(1} external and internal economics

(2} spread and backwash effect

(3} backward and forward linkages

(4) increasing and constant returns to scale
wegfia wafg WAl st 2

(1) o o raie feemmast w o

(2) Torem o ol wsEl W

(3) wETH HR T ey T

(4) g ge au fBr I & wfea w

52. Justice in taxation is ensured by applying the principle of

(1) equal absclute sacrifice (2) equi-proportinoal sacrifice
(3] equi-marginal sacrifice (4] None of the above

Foam § =g g Rigr % wim g ghive g @7

(1) S9F T I (2) WO IR W

(3) o G (@) R & & i

1) . 18
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53. Select the pair of economists who first advocated canons of taxation and canons

(2)

of public expenditure

{1} Adam Smith and Findlay Shirras
(2} R. A. Musgrave and R. N. Bhargava
{3) A. C. Pigou and David Ricardo

{4) Ursula Hicks and A. R. Prest

whofl & o W w o AR e wd v § Bl T A
7 % T & sy s

(1) wen @ qan fed frow (2) Ko Yo WEIG W1 3AWe TWo HMA
(3) To Hte mmﬁmﬁ (4) SN femm a0 To amo P

The interest rate at which the Reserve Bank of India lends to Commercial Banks
is termed as

(1) Repo Rate (2} Reverse Repo Rate
(3} Treasury Bill Rate {(4) Bank Rate
B = ot w il o &% aifteT S 9 TuR 2 R, w2

(1) it Rt B AmR @ me

The slope of the Price Consumption’ Ctirve {PCC) for & nermal goods will be
(1) positive (2) negative . (3) }'mnlcward ‘4) vertical
T P O o Rl e sodm YE W eaE '

(1) o @ TE (@M R ) s

19
F.T.0)
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56. According to Cobb-Douglas production function, the elasticity of substitution is
(1) equal to unity (2) equal to zero
(3} equal te infinity {4) greater than one
Fig-TTed I WEF ¥ AR, SemE f A w2
(1) o F WO (2) Y F UM {3) W & FAH (@) ©F & AE

57. Who explained the importance of time elements in price determination, for the

first time?

(1) Mrs. Joan Robinson {2) Chamberlain
(3} Marshall ' (4] Stigler
adoum Ty Bwa Rt § v wER @ wee @
(1) st s WA (2) SeRfe

(3) W= (4) TR

58. RTGS stands for
(1} Real Time Gross Settlement
(2) Rapid Time Gross Settlement
(3) Real Teller Google Settlement
(4) Regional Teller Google Settlement
stofosfom@e B 3 2 |
(1) o T TrE A (2) Y zgw af@ afeie
mﬂuaaargaﬁﬂr&aﬁz (@) e Fon e AR

) 20
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(1} .

17P/201/22/Set No, 1

Which of the following is likely to be the least important source of revenue for
the Central Government in India for 2016-17 ?

(1} Union Excise Duties (2) Customs

(3) Income Tax ¢ (4] Corporate Tax

Profefes § 3 w@ § 33 vER ¥ R o 2016-17 § e W ¥ s Aww
W W gaE R

(1) R TR o (@) ¥ FF

(3) T (4) FNT =

For the ﬁnar[cial year 2016-17, as a percentage of GDP, which of the following
deficits is likely to be maximum?

(1) Revenue Deficit (2) Effective Revenue Deficit

(@) Fiscal Deficit (4) Primary Deficit

feftr o 2016-17 &% R Rododle ¥ I ¥ T A A 7 7 7T T@
waifeF S S g 87

(1) TSR TR (2) W TR T

(3) TR 4w® (4) wraf¥e =

Information provided in the Financial Statements of a firm pertains to

Al ] .

{1) industry

(P.T.0)
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63.

o W ¥ e Reoi § ww 6w oger gstan B 2

(1) =& (2) =aRwra sraEm I

(3) =R & (4) srfoaaEn

The Sales Day Book records

(1) credit sales of merchandise (2) cash sales of machinery
(3) credit sales of Imachinéry (4) cash sales of merchandise
gy § o .ﬁﬁﬂ [

(1) Fegail %1 yR fww (2) welilt 1 e Ra

(3) TN F IR faA (4) Fgel | W T

The source document used for recording entries in Purchase Day Book is

(1) credit notes sent out (2) debit notes received
(3) invoice received (4) invoice sent out

T UEH W OO & & M —— &) SR YO WE S 2
(1) %o T #:fez e (2) ¥ g7 SRR A
(3) W ek (4) %o T fSF

Expenditure incurred on achieving a right to commence a business is a
(1) tangible capital expenditure (2) intangible capital expenditure
(3) revenue expenditure (4] deferred revenue expenditurc

22
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(1)

17P/201/22/Set No. 1

Th a9 B WO #A % ANER W WA % foe B o e o ———
s

(1} 7 s = S () el (o s

(3) A =Y (4) vofm smm =Y

Which one of the follnufing is an essential characteristic of an asset?
{1) An asset provides future benefits

(2) An asset is obtained at a cost

(3] An asset may not be viewed as infrastructure

(4) All assets are tangible

Prafifem & @ uw el - et R S 3

(1) v sty vt & o wem el 2

(2) o5 TR arEm W W A 2

(3) & 7 ) T F w0 § W 2@ . wHa 2

(4) ot ettt ol B

Which one of the following is correct?

(1) Gross profit + Purchases + Sales = Net profit

- (2) Gross profit + Pu;cl_;gs_ig_ + Administrative and other expenses = Net profit

(3} Gross profit + Sales + Administrative and other E‘.’Ecnses = Net profit

(4) Gross profit — ACMINISUATTE Srd SeImE
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6'7.

69.

Frefafea 8 & - ot &7

(1) &1 ™ + 59 + fpa = Y@ W™

(2) FF TN + F4 + WS T 79 @ = [Yg O™
(3) TFE T + RET + RS W @ W = [ o
(4) ¥FQ W — TS W@ R T = g O

Receivable, that is, the amount due from a customer is a

(1) monetary current asset (2) non-monetary current asset

(3) Bxed asset ' (4) fictitious asset

TF WS ¥ W SR —— & wf e @)

(1) g = weaf (2) T-AfF = T

(3) wurft gl (4) FreufE G _‘

The determination of expenses for an accounting period is based on the
principle of .

(1) chjectivity (2) materiality (3} matching (4] periodicity

w A Ef % v s . Pt —— fagr W s g 2l

(1} Fegma (2) witfaerar (3) R (4) sraftfTga
Interest on capital will be paid to the partners if provided for in the partnership

deed but only out of

{1) profits (2) reserves

(3) accumulated profits ) goodwill
24
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aRTdl ® (A W o o R R e e aEEd e § wEen @ e
Fad . .

(1) M & | (2) wfafogt @
(3} e ot @ (4y Ty 4

A and B are partners in a firm. They are entitled to get interest on their capitals
but the net profit was not sufficient for this interest, then the net profit will be
distributed among partners in

(1) agreed ratio (2) profit sharing ratio

3) equally 4) capital ratio

AW B T TN A awen ) 4 I woa eewd 3 R ot § v
# vl wE R wate o 2, ™ awed § gz o W Row o

(1) 7R e (2) vt R srpam &

(3] Wise-mRR - () st aga 4

A and B are parl;ncra sharing profits in tht Tetc oreve=e mgg admitted with
4 share in profit which he acquires equally from A and B. The new ratio will be

A ¥ B wEER & T 3. Q%a@mﬁmﬁwmﬁﬁlczﬁmﬁlm
ﬁmmmw+uaﬁm&aMﬁw-mmm%rm
S B

(1) 9:6:5 (2) 3:3:2 (3} 19:11:10 (4) 3:2:4

25
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72. I, at the time of admission, some balance appears in Profit & Loss Account, it
will be transferred to

(1] Revaluation A/c
(2} Profit & Loss Adjustment Afc
(3) All the Partners’ Capital Accounts

(4) Old Partners’ Capital Accounts
IR 740 & wE ww-gl @i d $9 A AW 2, A 9 sy s

(1) T G (2) ew-gf TR @ #
(3] & el % ¢ @idl (4) T wel % ol Wil #

T3. Part of share that can be called at the time of liquidation is
(1) Reserved Capital (2) Authorised Capital -
{3} lssued Capital (4) Capital Reserve
o ot w R ot e w ¥ wE W @ f o

(1) sfm {sh (2) wfepn &t (3) Frifm gt (@) §oh B

74. Which type of preference shares do not have right of additional profit?
(1) Irredeemable preference shares
(2) Redeemable preference shares
(3) Non-cumulative preference shares

(4) Profitless preference shares

(1) %



77.

(1)
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AR ow N sl ol @ e & @ arftem ww T8 @
(1) fmiea it i ,{;]ﬁﬁwaﬁmm
(3) swiwht sftmm of (4) wnT. fem st s

‘Which Section of the Companies Act, 1956 deals with minimum subscription?

(1) Section 69(1) (2) Section 70(1) (3) Section 59{1} (4} Section 65(1f
g Fwer afaiem, 1956 % fem R § <Eaw sibem $ ofafvg e mr 0

(1) 9% 69(1) (2) W 70(1) (3) wra 59(1) (4) R 65(1)

Profit on insurance policy for redemption c;f?;;_lebenmre is credited to

{1) Revenmue Reserve Account B8 &/E Aoemmt

{3} Capital Reserve Account (4) Dcbenture Redemption Account
TR WM ¥y o W e it oo B B w2

(1) sm iR & (2) vy &

(3) st ww @r 3§ (4) "R Qe TR §

In which Section of Companies Act, slteration of share capital is related
(1) Section 86.  (2) Section 93 (3] Section 95  (4) Section 94

0§ § oz T aER w e AR R a4

{1} 9 86 (2) g1 93 (3) 9 95 {(4) UM o4

P.T.0}
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78.

70.

80.

(1)

X Ltd. proposed to shareholders to issue right share in the ratio of 4 :1 of Rs 10
@ Rs 12. On the date of proposal market value of share is Rs 17. Find the value
of right share

(1} Rs 7 (2) Rs 3 (3) Rs 12 (4) Rs 5

X e & ot ofmumwt w10 To W oW WA W 4 AW W 1 AW 12 Fo ¥
I h W W AR F AEn W e R ToE ) fify | s s AR e
17 %o gfy 27w B afeR oW F1 ¥ 9 Hifw

(1) 7 %o {2) 3 %o {3) 12 %o (4) 5 %o

Which onc of the following debentures is not recorded in company’s register?

(1) Secured Debenture {2) Bearer Debenture

(3) Convertible Debenture {4) Mortgage Debenture

fiafifas § & s-w woe =t § e § 78 i @ 20

(1) e T (2) IEF FHE

(3) uadha wE (4) FUFR O

Security Premium Account is ——— at the time of issue of bonus share.
(1) debited | (2) credited

(3) adjusted in P/L Account (4) adjusted in capital reserve

s aiy Bt % T TSN @R A —— FE 8

(1) ot (2) et
ig}ﬁfﬂ-—'ﬂﬁ@lﬁﬂmﬁﬂ (4) I w9 @ @ AR

28
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81. Profit prior to incorporation is used for
{1} reduction of Eapitaj losses
(2) payment of dividend
(3) reduction of deferred expenditure
oo, Feliiathc oY devesiin Ty
e § W e o e e 2
(1) o o = = F fe
(2) =i e & frg
(3) wmuiE =@ = T F R
(4) smma Tl # = A F fow

82. Expenses on ESOP is recorded in
(1) Empioyee Benefit Expenses A/fc

(2} Finance Cost

(3) Other Expenses A/c

'(4) Mamrufacturing Cost

ESOP W figr w1 = z'.aﬂm w2

(1) e e @) fre e
3) 3= = g | (4) JTY-€ %

22
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B3.

85.

(1)

Public Limited Company cannot issue

(1) SWEAT Equity Share (2} Deferred Share
(3} Preference Share (4) Equity Share
wawhe faire it 78 = w2

(1) SWEAT ®wal 37w (2) SuF@

(3) wmiftam o (4) g5 ¥

Capital Redemption Reserve is used for -
(1) writing off capital loss

(2) issuing of fully paid bonus share

{3) issue of equity share

(4) payment of dividend

{5l Mo g9 W A I R

(1) dfima wif% ¥ sweEs & @

(2) e s W % i & R

(3) wwar 9 % Foiw & fe

(4) e gEE F g

Which Section of the Negotiable Instruments Act, 1881 defines a cheque?

g e afufam; 1881 B FA- @@ IF B ooforie w22
(1) 5 (2) & (3 7 (4) 8
30
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(1)
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Which is not a function of Central Bank?

(1} Regulator of currency (2) Banker of the last resort
(3) Controller of credit (4) Receiver of public deposits
-t T 0 A | |
(1) W w P (2) o o

(3) T = R (4) WA T s

The number of Schedules in the Provincial Insolvency Act is
i Rt afufam & sefenit  den
{1) 2 {2 4 3) 8 4) 16

[n case of insolvency of a partnership firm, the pfiviterassets of a partner are
availabie

(I) first for the distribution among his privets ereditors
f2) first for the distribution among the creditors of the firm

(3) neither for the distribution ot any creditors
{4) None of these

ot i ¥ R W, FEgR Rl gkt ey 2
(1) Swm 5% @ & wgn #F faeon ¥

(2) wevem o & dwnd ¥ fiww ¥g

3) 7 wm #F aly o o % ART ¥

(4) 7 ¥ = a8

31
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89. If an asset comes to the knowledge after preparing Insolvency Accounts, it will
be shown in

(1) List E of Statement of Affairs and left side of Deficiency Account
{2) List E of Statement of Affairs and right side of Deficiency Account
(3) List G of Statement of Affairs and right side of Deficiency Account
(4) Nowhere recorded

e @R T ¥ vEw v AR awEh Fi # i s R

(1) foufy fmw & gt E # & =mm @R A anlf s

@) ol faw A gft £ ¥ @ g @ $ ol s

(3} Ry famn ) ht G #F @@ T @@ H o A

(4) =l w .aﬁﬁ SL

90. The expenses which are not departmental are charged to departments
(1) in the sales ratio
(2] in Lhe ratio of assets employed thereto
(3) charged to general Profit & Loss Account
(4) None of these

a% & W fvmit ¥ wafa 78 8, 5 afonRa fer w2
(1) Topa amgum o
[z]ﬁﬁmﬁmqﬁamﬁr&i%agmﬁ‘

(3) B T-ER @ iR S

@ T & = T

32
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93.

(1)
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In case of independent branch, the Head Office Account maintained by the
branch is of the nature of

{1) Real Account | (2) Personal Account

(3) Nominal Account (4) Capital Assount

@A W A d W G W T s wn R e
(1) 9w @ (2) Jafes @mn laj'mﬂ-qﬁ g (4) S0 @

In foreign branch, fixed assets shall be converted at

[1) opening rate of exchange (2) average rate of exchange
(3) rate on the date of purchase  (4) None of these
ot A i § s wel ® agen o 2

(1) ST e W w (2) afram RfirE = w

(3) 3 A Ry weh @ w @) wi 2 5l

By what rate, the balance of Head Office Account is converted in foreign
branch? :

(1) Opening rate (2) Closing rate (3} Average rate (4) None of thege
et e & e ) w1 A e B w el R s 4
(1) WS & W (2) M T wm (3 &gy @ W ﬂliﬂﬁﬁaﬁﬁqﬁf

33
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94. Royalty is in the nature of

95.

(1) Venture Capital (2] Rental Capital
(3) Working Capital (4) Partners’ Capital
AE-y 6 i 2

(1) &em s (2) o it (3) wEvhe gt (9) FeEK O

Royalty is the consideration payable for the use of special right

(1) in a tangible asset only

(2) in an intangible asset only

(3} in a tangible asset or an intangible asset both

(4) for acquiring public property

AFR-TFF T WY TR & en A Gt § we w@ @ ke 2
(1} $a TE-E aefa #

(2) ¥aa ey Ty w

(3) WA T§ wewiHE Gl @kl 9

(4) WRwR® TR W FE ¥

96. Shortworking is equal to

(1) Royalty - Minimum Rent (2} Minimum Rent - Royaity

(3) Royalty + Surplus ) Minimum Rent

34
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(1) fbwR-Yo — <7 B
(3) AFR-37 + onfiry
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(2) =Fa R — srfen-ges
(4) gar T

97. “Higher the ratio, the more favourable it is.” This does not apply to
(1) Net Profit Ratio (2) ‘Stock Turnover
(3] Operating Ratio (4) None of these
“orum Reen ® S g 2, 3991 @ arﬂ."ct-‘t'ﬁ’mk’b'l‘:?‘?ﬁ T TR Ee R
(1) Y& &N 31U |/ (2) T S eoe
(3) ¥ARH A W 4 ¥ 2 w1l T8
98. Operating Ratio is
(1) Profitability Ratio (2) Activity Ratio
13) Solvency Ratio (4) Liquidity Ratio
W UM §
(1) TGRSR STRY 2) BrEmew sw
(3) W g, I (4) T g
99, Pricc-eamning ratio is-wsefal.tg

(1) short-term creditors

{2) investors in shares

(3) debenture holders &) None of the abbug

35
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He-3 s gl g 2

(1) y=vFea dagrl F R (2) ot % Ffermet & R

(3) Tl & fom (4) 30w § @ ®§ 7@
100. Return on investment is ratio between

(1) net profit and capital employed
(2) investment and profit

(3) turnover and capital employed
(4) capital and assets
fafrdm wm yena aguE de 2
(1) TG T o s & A
(2) Rfn @ @ % &
(3) o v T e % o
(4) 4t @ " & ¥
101. Average payment period is 244 months, hence creditors turnover will be
(1} 6 times {2) 5 times

(3) 3 times {4) None of the above

st AR SR 24 e B, A Aw smd B

(1) 6 T 2) 5 T

@) 3 T qqymﬁ%ﬁaﬁ
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102. No. of equity shares 3000, dividend per equity share Rs 2, earning per equity
share Rs 5, hence payout ratio is

g oWt # "Ewm 3000, WA W AW AW 2 %o, WiM GEAT W AW 5 %o,
¥ R I R
(1) 40% 2 10% @3} 30%  (4) 20%

103. Purchase of equipment in exchange of shares will amount to

{1) sources of cash (2} uses of cash
(3) effect on working capital (4) None of these
T F WA IR H Y O

(1) B WS (2} T w0 T
taawhﬁﬂ“tﬁﬁmm R R

104. Preparaten of Cash Flow Statement according to AS-3 is matidatory to
(1} all enterprises
(2) companies listed on a stock exchange
(3) enterprises having turnover less than Rs 50 cibre
(4) All of the above
G -3 F FTAR T5E vaw fam @@ e 3
(1) wft IwEnl &\
(2) =y Fftr v gl 9 5
(3) 50 % T A f) B am i B
(4) TR® B w
37

flj {P.T.0,)



17P/201/22/Set No. 1

105. Which one of the following is not treated as use of fund?
(1) Loss from operation (2) Payment of dividend in cash

(3) Eﬁdﬂm-ptiun of capital in cash  (4) .Sa]e of fixed assets in cash
Frffes § & B-w1 sEEr Ay W= I W/ A . e

(1} w=r | o (2) @Y T A

(3} {5t &7 e F oA (4) T2 A wrlt gy = Ry

106. Which one of the following Governments in India followed the education of
Accountancy first?

(1) Government of Delhi (2) Government of Uttar Pradesh
{3) Government of Mumbai (4) Government of Tamil Nadu
e % e P e wdwem fea w3 e |
(1) Rgh F@n | (2) IW TN TR
(3) APy wEm @) g E
107. Addition of books comes under the scope of
(1) Routine checking (2} Vouching
(3) Auditing (4) None of these
afelt @ sz Fewn —— ¥ FEdn & o o R
(1) Yo wfa (2) YA (3) HHgW 4) o 8 B

108. Work to be performed after the preparation of Final Accounts is

Sarv msddledtion

|4} checking of Ledger

(1) valuation
(3) vouching
38
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a2 qQ ¥ IR ¥ waR B W s 59 @

(1) TEa " (2) FH
(3) YHH | (4) Tred oSt

109. Which of these is not a material control technique?
(1) ABC Analysis |
(2) Fixation of raw material levels
(3] Maintaining Stores Ledger
{4} Control over slow moving and noﬁmwiﬁg items
Pierif & & A¥-e woaht Feiner R = 47 |
(1) ABC fawer.
(2) TS W w Ruifa s
(3) W S =Y
(4) d6ft Aly @ w3 well @ 3 TN () areft wft w0 R

110. Stores Ledger is-a

(1) quantitative as well as valuewise records of material received, issued and
balance

(2) quantitative record of material received, issued and balance
(3) valuewise record of material received, issued and batance

[4] a record of

| 39
(1 (ET.0)
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wrd S d 2

(1) v g, Folfim g aw S ol o o g w Rew
(2) v g, frifim gd s Ay amht @ Rew B
[3]W§,ﬁﬁﬁﬁﬁﬂmmmﬁwwfﬁmﬁﬁlﬁ

(4) gttt ol = fid

111, Reorder level is calculated as
{1) Average daily usage rate x Lead time in days
(2] Minimum consumption x Minimum reorder period
(3) % of (Minimum + Maximum consumption)
[4) Maximum level - Minimum level
G TWOH AT HE R S 27
(1) 2 sttem ST o x g (dfe) W T R

(@) W T x IR [
(3) % (FgFEw + SARrETH INI)

(4) i W — T

112. In case of rising prices, LIFO will

(1) provide Jowest value of closing stock and profit
(2) provide highest value of closing stock and profit

rovide highest value of closing stogk but lowest value of profit

3) p but lo
9! alue of pTUﬁt but lowest vaiue of €losing stock

(4) provide highest V

40
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114.

1)
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& 950 T g A, et = o dm

(1) sf<m wfow @ @™ w98 F8 @ W fgm

2) s TR aa T S o Rl

(3) wFm e A e w g I AET e w Rl
(4) a sfteem g W Ry oA Wl gom g o fRgm

Which one of the following is not a method of c}ust af:"sorpt1r:nrr:|'i‘r
{1} Percentage of direct material cost

(2) Machine hour rate

{3) Labour hour rate

(4) Repeated distribution method

Aeiile # & ¥ wvm sEOw R b

(1) w18 anft = w1l (2) ™ T @

(3) o9 A ¢ {4) roER Fiter R

In the process costing, if an abnorms! loss drises;, fhe process account is
generally

(1) debited with the scrap value of the abnormal loss uﬁits

(2) debited with the full preduction cost of the abnormal lnas 1mits

{3) credited with the scrap value of the abnormal loss units |

{(4) credited with the fuil production cost ‘of the aEnorma]' loss units

41
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whem T Swiy § af s i se g 2, A IR SR W e
(1) smm= g gt & e g # 3w Fen s R

@) s TR e % o s o @ 2 fen s

@) s TR T 5 oy g @ e fRn w8

(@) e e R % ol s are ¥ $fee fe

115. Which one of the following has no tax incentive under IT Act?

(1} Depositing Rs 10,000 in PPF A/fc

(2) Payment of Rs 7,500 for Mediclaim Policy

(3) Depositing Rs 50,000 in fixed deposit in SBl for period of 3 years
(4) Payment of EMI on house building advance taken from employer

Prfifis § @ PR W TR Bam ¥ ot g eEd @ 87
(1) fotiouro @R # 10,000 Fo I -

(2) e wikeh % 7,500 Fo F 9% 8 YEA

(3) THodieaEe § 50,000 %o 3 & % ol wEfy =
141ﬁﬂmﬂ%&ﬂ&mﬁﬁwmﬂgommﬁaaﬁmmrﬁ

116. Who is not an assessee?

(1) A persﬂﬁ who files the self-assessment return

(2) A person who files the retum of income on behalf of minor

(3) A person who has to take refund of income tax from IT Department
(4) A person whose income is below the exemption limit

(1) 42
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118.

(1)
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frriefies & & 9 g A 27

(1) = N w-w-Aufo fed afw a2

(2) = < s 6 s 4 fied ofee =m R
(3) = PR s R @ o B e 9§
(4) =ahw Rl o =ow i A A9 R

In the case of Government employees, the Entertainment Allowance is allowed
as deduction to the extent of

(1) Ra 5,000

(2} Rs 5,000 or 1/5th of :?a.lary whichever is less
(3) Rs 5,000 or 1/4th of salary whichever is less
{4) No deduction

il wdel ft @ 3, wiew v R @ o w6 A a3
(1) 5,000 % T

{2) E,DDﬂﬁemwm%ﬁﬁﬁ:}mﬁ

(3) 5000 %o 3wt It W L A H o oww W

(4) 9§ FA

Depreciation on plant and machinery under IT Act is allowed on the basis of
(1) Straight Line Method

{2) Written Down Value Method

{3) Insurance Policy Method

{4] Any method as per the choice of the assessee

43
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119,

120.

TR o # e g weil w g e fafy & e T s R0

1) #eht tmn fafy g (2) T g i g

(3) s aiferelt ffr g (4) ¥ TE A fRe fafy gm

For the Assessment Year 2015-16, the maximum amount of interest on loan

taken for the construction of house, allowed as deduction on self-occupied
house 1s

(1) Rs 30,000  (2) Rs 1,00,000 (3) Rs 1,50,000 (4] Rs 2,00,000

~ﬁﬁwaﬁzom—1&%ﬁﬁﬁaﬁw%§%ﬁnﬁwﬁﬁwmmmﬁ
s T fom w e fire W B, w2

(1} 30,000 %o (2) 1,00,000 %o (3] 1,50,000 T {4} 2,00,000 %o

Under Section 80 TTA of IT Act, the maximum amount of deduction allowed is

(1) Rs 1,000 (2) Rs 3,000 (3) Rs 5,000 (4) Rs 10,000

SR ) U 80 TTA ¥ oimnia aifeoq Wige @ 3

(1) 1,000 %o (2) 3,000 %o (3) 5,000 %o (4} 10,000 %o
*hx

44 D/7(1)—2166






seafqai & fem frdg

(T0 il & U¥R AE0-98 T A9 3T F 4 W e et @ oFet awmownz w8 d )

14.

11.

12,

13.

14,

v giE iR F 20 e % o @ tw o B owww d wd gy wige € sk B oW
gz T8 R I Givgw T 9H W gl e dend su-Fiss = o mad T 6
et oftaw am o #= ow)

e wam # fower e mdw-va & e feen @ owm w6 o w@en wmw owg § 7 w0

TR-T oA A o 8 5@ 7 @ 5 e 7 & fagw # gow sweovF 7 fowm T e o
V¥ # 8 gewed fEm e

AT STFAF Y TH-TF W OFEAE G HAO-3F | 97 ° fwifo wwow o

. T K P T W W O} agmarw Cwif e w fed am A fed gl o ow €

e - s B awl v hes ® owEE aw 42 W e 2w el W fed

slle THo ARe U3 T HAIS HEw, WH-JiEE §@n 4 ¥ g (A F A) a9 wE-ufiEs m
FTFEF Ho 2T 3o WHe e ww o W Wl § wiEER W agAf W O

T Wil A w2 of ufeds sy s g v @ il s 1w oF snfew W ® owEm
T T

- 8§ YEE ue o wn ST gw 53 M € Aew 5 F dwfove aw & FR ave -
v 7 wafew vhE & g fd 13 g9 7 IO-VF ¥ NN 99 W A w3 R & sgEm 99 7 Tw
o

ﬁﬁﬁﬁﬁm%ﬁﬁﬁﬁﬁﬁ%ﬁwﬁlwﬁHﬁﬁgd‘faﬁwaﬂﬁwawrﬁ
g7 F Ah TR W aE IR e O S

Wﬁﬁﬁﬁmm’rmaiﬁﬁa"mmwﬁmm%wﬁm%ﬁmw?m?ﬁﬁm
&ﬁuwfﬁﬁﬂ:mﬁﬁ'&fﬁmaﬁaﬁm%%@mqsﬁ s fe A

mmﬁ?ﬁﬁrﬂm--gﬁw%m%mmﬁ@ammgﬁﬂ WA i

oia ¥ T wad HeqHedRe gor-vF gten v § wm w2
wﬁmm#ﬂ‘ﬁﬁvﬁwwﬁmwﬁ:ﬁ-mﬁﬁﬁﬂi
aﬁ#ré-vaﬁﬂﬁmﬁWmmmmﬁ,ﬁﬂﬁmmﬁuﬁmﬁmﬁmfﬂ
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